Ca0aKkTbIH TaKBIPbLIOBI:
DJEKTP TOrbl. JJEKTP Ti30eri.




Ca0aKThIH MAKCATHI:;
DJIEKTP TOrbI YFBIMBIH, AHBIKTAMACHIH €HII3Y;

KapanaiibIM Tiz0eK CMMBOJJIapPbIMEH
TAHBICTBHIPY:

KapanaubiM Ti30eK KYPacThIPY AariblIAPbIH
IAMBITY;




Learning outcomes:

- JJIEKTP TOIrbl 3apsATajJraH  OoJIlmIeKTep/iH
PeTTeJIreH KO3FaJIbIChl €KeH/IIINH TYCIHY;

- METAJIJI OTKI3rIIITeri 3JIeKTP TOrbI, COJI TOKKA Kepi
OarbpITTarbl  JJIEKTPOH el  arajarblH  Tepic
3apsATaJraH  OeJIIeKTepAiH AarbIHbIHAH MalJa
00JIaTBIHABIFBIH OLTY;

- g = It popMmy1achbIH 011y KIHE KOJIIAHY;




/Kocmap

-JJIEKTP TOrbl/aHBIKTAMACHhI;
-Ti30ek CMMBOJIIAPBIH €HII3Y;
-KapanaubIM Ti30eK KypacTbIpy;
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OTKIBrImTIH KOJJAeHEeH KHMMACbhl apKblIbl KaHAal
Aa Oip yakbIT apajblfblHIA TAaChIMAJAAHATHIH
IEKTP MOJIIMIEPIHIH COJI  YaKbIT apaJjbIiFbIHA
KATBIHACHI TOK KYIIi el aTajajbl
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How many coulombs (C) of charge passes
through a 0.5 A lamp in 5 minutes?
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DJIEKTP TOrbI 00J1ybI YIIIH KaHAAl IIapTrap
OPBIHAAJIYbI KasKeT?
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Figure 3.7.4 Various types of batteries
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OTKisrinTe epKiH JIEKTPOHAAP 001y KAKeT;
Tok ke3i;

Ti30ek TyHBIKTAJFaH 00J1ybI KEPEK;

TokThIH 0arbIThI (KA0BLIAAHBI AJIBIHFAH HIAPTTHI
0arbIThI - conventional current) oH 3apsiaTajJraH

0oJilIeK 0arbIThIHA COMKEC KeJIei.
Toxk KyLIiH 6JIIIEHTIH KYpPaJ — aMIIepMeTP-Ti30eKKe dpPKaIIaH Ti30eKkTel
KaJraHaabl!




JJIEKTP Ti30erl iliki sKIHEe ChLIPTKDI
00J1bIN 00J1iHEAl, TOK KO3] iIKi
Ti30eKKe, aJ1 0apJbIK KaJraH 00Jiril
CHIPTKbI TI30€KKe KaTa/bl.




-

Ti30exTiH Heri3ri Kypamaac 0oeJiiKTepi:
-Tok Ke3i;
-TYTBIHYIIBI;
-AKajrarbll CbIMAAP;
-bacKapyuibl ;kdHe 0aKbLliIaylIbl KypaJjaap.
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JJIeKTP Ti30eri CHMBOJIZAPbI
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KajTa (poHaAPBIHBIH KYMBIC ICTEYIHE KaKeT
ChI30aHYCKAHBbI CAJIbIN KOPCeTIHAeP
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HlarbIH TONITA
IEKTP Ti30eriH KypacTbIpblll, 3epTTEY *KYPri3iHgaep
1 Tanceipma.
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conducting wire
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Experiment r r
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Aim: To measure current in a circuit.

, Meosuring current lo/x]

Materials: A battery, two bulbs with bulb holders, connecting wires, an ammeter.

Procedure: Set up a simple circuit. Connect an ammeter to the circuit in series so that the positive (+) terminal
of the device goes to the positive terminal of the battery. Turn on the switch.
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Read the scale and record the result. What is the current in your circuit? Now add the second bulb in the circuit as

shown in the figure. Take a new reading and record it. In which case is the current greater? Why?

Current (I)




2. The figure shows a diagram of a
simple circuit. What are the correct

names for the numbered parts?

A)
B)
C)
D)

cell
battery
lamp

switch

lamp

resistance
cell

lamp

switch
fuse
switch

cell




EKI mamabl mamabl Ti30eKKe JPKaANChIChI
eKIHIIICIHE TIYeJICI3 KAHATHIHAAM eTIIl
KOCYABIH ChI30aChIH CAJBIHAAP

Ti30ekTi Kypam, Tekcepin Kepinaep







KepmHey.

KepHeyliH (MoTeHInaIap aiibIPpbIMbI) (PH3NKAJIBIK
MaFbIHACBIH KdHE OHbIH BOJIBT OJIIeM OIPJIIriH oLy
KOHE TYCIHY




